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STATISTICS
( General )

Full Marks : 60

'Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7
wore fAIRe PotirEiR Tey B '

(a) Mailed questionnaire method cannot be
adopted, if the respondents are .

( Fill in the blank )

TR RS o A JWER FR]
cTanR, Tz Tewrer ____ =)

( 1R 31 79 T )

() What is the relation between mean,
median and mode for a symmetrical
distribution?
<1 TS I TG, TG WF I NOS
Fwcol 2
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(2) | . (3)

{¢) Find the value of Ae*. Given, h=1. . a2,
Ae*3 I Sfdrear | fan ©iCR, h=1.

Answer the following questions : 2x4=8

S IR T o
(d) The index numbers are expressed in (@) Discuss any one method of collection of

_ ( Fill in the blank ) |

_— - primary data.
: . T o0 AW B @ @b e R
’IW!W_:\ o1 oM TR W | ey
( R SR o7 ) ;
|
{e) The geometric mean of four values 2, 2, | (b) Show that
0, 4 is 2, | (i3S @
( Write True or False )
2
»2, 0, 4 7 grared W XF 2. A2logx=log[1— 1. 2]
(7% G Ty ford ) be+d)
o |
Fisherss j ber is an index ;
_ nmnbei index num ' " | (c) State the limitations of index number.
( Fill in the blank ) 5T AARESPTZ TCard 1 |
RoRa 35 e IoF B @A T | |
( AR 3% o 390 )

(d) Write down the requisite qualities of an
ideal measure of central tendency.

(g) State ‘ .
th, amental theorem of finite '
diﬁ'eren:e.fu namen © <O S (FR R PR TRTRR QRIR

AR e et IR Seeims B | Frars

L




(4)

3. Answer any three of the following questions :
Sx3=15
wrs 1 iR R e R e o

(a) The following costs were incurred to
construct a house :

951 99 Auflq FES oS o 4qoR Cofm

Cic i
Head / Rerst Cost / 4%
{in thousand / YEHRI)

Cement / &A% 50
Brick / %51 60
Iron / Gt 25
Labour and Misc. 45
T HF S

Represent the data with a suitable

diagram.

SYPTR b1 TR s afdfitg

(b) What do you mean by statistical data?

Discuss different sources of collection of
secondary data.

R vw P B @ o o
TR R Bz SIS #41

{c)

Derive Newton’s forward interpolation
formula

OB o wrsra® st Brear |
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(5) .

(d) Define Standard Deviation (SD). Show
that SD is independent of change of
origin but not of scale.

e Reem o v ojed @, = Ry
ARTSTR FRCT Te Roe=R_ T 9T AT 3

TR CFaS RIS = |
(e) Give the idea of skewness of a
" distribution. Draw the diagrams

wherever necessary.

3% GO REgerd yRe Wi e PR

fom iifan |
4. Answer any three of the following questions :
10x3=30
o it ermiarRd R et FRer e fort -
(@ () Define central moment. Show that
(with usual sumbols)
w3 =3 -3non] +2u7° 5
B eI TR A ORST @ (TR
IS HOFC)

ng =p3 —3uaui +2u3
(i) What is coefficient of variation?
Distinguish between variance and

coefficient of variation. 5
R5ed QT 7 PRI W% [R50 @R
AES AreT el |
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®) (i)
(&)
X
Ue
& ()
(ij)
@
20A/345

(6)

State and prove Lagrange’s
interpolation formula. When is this

formula used? 4+1=5

TR TG STACH! T = ersret 3w 1
R 0O R W I o
Estimate U, from the following
table :

TS A SRR [T U, SR 347 ;

1 2 3 4 5
260 —_ 350 390 430

What is the cost of living index
number? Discuss its uses.
R To0 THIRT WA A 2 29
TS R e 41 |

Write short notes on Time Reversal

Test and Factor Reversal Test.
Name the formula which satisfies

both the tests. 4+1=5

T Teama oRw T TAWE Bewmg
R SIS 5 G o | bt +iSpy
v w1 sp@core W o |

If u, =a+bx+cx2,~then show that

I u, =a+bx+ox’® W, oW (e
q

1 1
I u,d, =2ug +i§[u_2 ~2up +u,)
-1

{ Continued )

5

(7)

(i) Evalaute

dx
ol+x

b Lol

2

by wusing trapezoidal rule and
Simpson’s 3th rule. 2+3=5

WWWW%W
1
dx
‘([1+x2
W= g 774
Or / 7%

Discuss the Newton-Raphson
method. 5

G-I RISCOT SC=AB= 7 1

g

(e) (i) Prepare a divided difference table
for the following data and then find

the value of f(6) : 5
oy OUR Rl 9N [ o aEe
FR £(6)F T Refa 2= .

x : 3 7 9 10

flx) = 168 120 79 63
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(8)

(i) What do you mean by numerical
integration? State the general
quadrature formula and trapezoidal
rule stating the conditions under
which they are derived. 5

RPN o3 i B w2 oo
RIGR Q% GRemes iy Jeeif]
TEIRR TEY IR AR P |

(! (i) Describe the different measures of
central tendency. Mention the
merits and limitations of one of
these measures. 5

&R gFTeR RS TWER et 791 R
@Al B YWY 97 WF FHORN SEy
4 |

(ii) If a variable x takes the values
L2 3 -, n then find Arithmetic
Mean (AM) and Standard Deviation

of the variable. 2+3=5
Qﬁ mm x™ 1,2,3,"‘an?|¥,
(STZ T3 boehe THIRT I HIF AWfIE
o Refg =11

sk Kk
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